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CLASSE 1^/2^/3^ 

ora LUNEDI’ MARTEDI’ MERCOLEDI’ GIOVEDI’ VENERDI’ 
1^ora 

8:00/8:50 
A B L A A 

2^ 

8:50/9:40 
A B L A A 

3^ ora 

9:40/10:30 
A L B B L 

4^ ora 

10:30/11:20 
A A B B B 

5^ ora 

11:20/12:10 
L A B B R 

6^ ora 

12:10/13:00 

*/13:05 il 
venerdì 

B A A L R 

7^ ora 

Mensa 

13:00/13:50 

B  A   

8^ ora 

13:50/14/40 
B  A   

9^ ora 

14:40/15:30 
B  A   

A= MARINO →15 +…                                                                                                     L=  PAGANO → 6                                                                                            

B=  SCORDO→13+                                                                                                           R= SERGI→ 2 

 

 

 

 

CLASSE 4^ 

ora LUNEDI’ MARTEDI’ MERCOLEDI’ GIOVEDI’ VENERDI’ 
1^ora 

8:00/8:50 
B A A B A 

2^ 

8:50/9:40 
B A A B A 

3^ ora 

9:40/10:30 
B A A B A 

4^ ora 

10:30/11:20 
R B A A B 

5^ ora 

11:20/12:10 
 R B B A B 

6^ ora 

12:10/13:00 

*/13:05 il 
venerdì 

A B B A B 

7^ ora 

Mensa 

13:00/13:50 

A  B   

8^ ora 

13:50/14/40 
A  B   

9^ ora 

14:40/15:30 
A  B   

A= SCRIVA →17+…                                                                    

B= SESTITO →17…. 

R = SERGI → 2 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

______________________________________________________________________________ 

CLASSE 5^ 

ora LUNEDI’ MARTEDI’ MERCOLEDI’ GIOVEDI’ VENERDI’ 
1^ora 

8:00/8:50 
L D D C C 

2^ 

8:50/9:40 
L D D C C 

3^ ora 

9:40/10:30 
L C D L R 

4^ ora 

10:30/11:20 
C C L L R 

5^ ora 

11:20/12:10 
 C L L D D 

6^ ora 

12:10/13:00 

*/13:05 il 
venerdì 

D L L D D 

7^ ora 

Mensa 

13:00/13:50 

D  C   

8^ ora 

13:50/14/40 
D  C   

9^ ora 

14:40/15:30 
D  C   

C= CONDEMI →11+…                                                                                   L=  PAGANO → 10 

D= CASILE →13+…                                                                                        R= SERGI → 2 

 

 

 

 

 

 

 

 


